Write the missing amounts.

@ £5+20p+9p =[] () £6:20+[ = £6-29

€ £2+10p=] D f4+[ )= £427

€ £1+50p+8p=[] (B £525+[ ]=£535

D £2+42p=[] @ £1+[]=£210

© £5+£1+20p=[] () £310+[ ]=£316

© £320+10p=] O £5+[ ]=£542

@ £125+£2+3p=[] @ []+88p=£188

€) £6:10 +55p =[] ) [ ]+ £4 = £5:50

© £220+8p=[] €D £314 +[ = £3-20

@ £330+16p=[] £2) £2:50 +[ | = £4'50

@ £1+£360+4p=[] () £6 + 40p +[ | = £6:47

® f6+£128=[] e []+ £255 = £275

w I have an amount between £3 and £4. The amount
pper can be made with four different coins. What could

the amount be? Find at least ten answers.

I am confident with making pounds and pence
O amounts.




